Mean Spectrum

rmo66 B8 a0 s o0 kemds
T I T T T T I T I_l_l I T

o™ !
| '
o=
; .
o7 '
|E o ,
o
2
[
[nd
1 ~—
=4
=

o

A (R) z = 2.14854
RMS Spectrum
rm066 BLR 8830 NLR 900 km/s
I T LIS S B S S L

n i
— . raw
| I
.:F | —cont
o? - |
|
E .
(3] .
o I RMSx
° n
":| p Mgll
=}
z ﬁ |Mmu, Hell

o | ﬁi&llmlm J . .

AL

I .Wlh\;a"' ; T

1500 2000 3000
A (R) z = 2.14854

x(\t) =
X*/(409770-5302)=0.984=>1.008

( Data — Model ACgF ) / o x

60 80

spectrum number
40

-1

20

it 1

-2

1500 2000 3000

2<-6.00
bad:160=0.039% A (R) z = 2.14854
u = 0.011(29) x = 0.963(78) => 0.963(78)
rm066 med(qu)

1.5

\
!

7 *'nrrmﬂ"n“"” T ""'l‘"r'“""‘ﬂ““lr”ﬂ limf“”n‘ T

& and x

0.5

A(R) z = 2.14854

Continuum Lightcurve

rm066 med(mad)% c5
T T T T T T T
L -
T
NV.I
1
£
o
2
i
& Of
°
“_‘
‘|_ 1 " 1?42# 1
7000 7500 8000 8500 9000
MJD — 2450000
BLR Lightcurve
rmO066
T T T T T T T
= 4
ox
|
]
o 4
" 1 " " 1 " " " " 1 " " " " 1 " " I-
7000 7500 8000 8500 9000
MJD — 2450000
Phot Corrections
rm066 med(mad)% Ap 1

& and x
0.5
T

| L S A R R AL |
Ap 100.00(19)% S/N —9.4
Prior(Ap) 5.0 %

rmO66

MJD — 2450000

u = 0.0110(72) x = 0.958(21) => 0.958(21)

med(mad)

7000

7500 8000 8500

MJD — 2450000

I QOIQQ—S.DV



